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foo :: [Integer] -> Integer
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odd dfoo [1,2,3,4,5]0 150 foo [4,2,-1,0,-4,-3]10 30000

U0 000 map, filter, foldl, foldrU0 OO0 00D O0O0OODOODOODOODOOOif0
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bar :: Integer -> [(Integer,Integer)]
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odddbar 20 [(0,1),(1,0),(1,2),(2,1)]0bar 40
[(9,1),(9,3),(1,0),(1,2),(1,4,(2,1),(2,3),(3,0),(3,2),(3,4),(4,1), (4,3)]
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Afxf(EX))((Afx.f(fx)g)y (AXXX)(AX.XX)

R Ax((AfxF(Fx)(((Afx.T(fx)g)X))y £, (AXXX)(AX.XX)

£, ((Afx. (X)) (((Afx.T(Fx))g)y) LN (AXXX)(AX.XX)
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(1) (AxyzxzZy2)((Axy.-x)(AXyzxZy2)))(1Xy.X)
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O:take 5 ({rom 1) >0000: [1,2,3,4,5]

O000OtakeD from0 00000000000 0O00O0OOCOOOOOOOO0OO
from :: Integer -> [Integer];
from n = n : from (n+l);

take :: Integer -> [a] -> [a];
take O _ = [1;

take _ [] =[]

take n (x:xs) = x : take (n-1) xs;

(1) take 6 (iterate (\ (x,y) -> (y,x+y)) (1,1))
0000000000000 iterated 0000000 0O0O00O0ONO

iterate i (a > a) > a -> [a]
iterate f x = x : iterate £ (f x)

2 [ x,y) | x < [1,2,3], y <- [2,4,6], y == x+1]
000000000000 D0000000D0D0000 100000000



Iv. 0 Oogod el x20
oooooobo0dooofdooooooooboooooedbOoOoOoOoo200000000
gooooooooooobooooboboobobboooboonoooooooboboooobo ogon
goooon

00000 lazy evaluatiof

OO OO0 00 encapsulation
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